

King Saud University Arab Journal of Mathematical Sciences

> www.ksu.edu.sa www.sciencedirect.com

ORIGINAL ARTICLE

A note for "On the rational recursive sequence

$$x_{n+1} = \frac{A + \sum_{i=0}^{k} \alpha_i x_{n-i}}{\sum_{i=0}^{k} \beta_i x_{n-i}}, \quad \approx$$

Xianyi Li^{a,*}, Li Zhou^{a,b}

^a College of Mathematics and Computational Science, Shenzhen University, Shenzhen, Guangdong 518060, PR China

^b School of Mathematics and Physics, University of South China, Hengyang, Hunan 421001, PR China

Received 26 February 2011; revised 20 May 2011; accepted 21 May 2011 Available online 20 October 2011

KEYWORDS

Rational difference equation; Existence of nonoscillatory solution; Boundedness and persistence; Global asymptotic stability; Inclusion theorem **Abstract** In this paper, we continue to study some properties, such as the existence of non-oscillatory solution, boundedness and persistence, global asymptotic stability, etc., for the rational difference equation in the title, which has been investigated in the known literature. We first point out some errors for the results in the known literature, then solve some questions existing in the known literature and finally state some new results.

© 2011 King Saud University. Production and hosting by Elsevier B.V. All rights reserved.

^{*} Supported partly by NNSF of China (Grant: 10771094), the Foundation for the High-level Talents in Guangdong Province and the Foundation for the Innovation Group of Shenzhen University (grant: 000133).

* Corresponding author.

E-mail addresses: xyli@szu.edu.cn (X. Li), zhoulihappy84@163.com (L. Zhou).

1319-5166 © 2011 King Saud University. Production and hosting by Elsevier B.V. All rights reserved.

Peer review under responsibility of King Saud University. doi:10.1016/j.ajmsc.2011.05.001



Production and hosting by Elsevier

1. Introduction and preliminaries

Consider the following rational difference equation

$$x_{n+1} = \frac{A + \sum_{i=0}^{k} \alpha_i x_{n-i}}{\sum_{i=0}^{k} \beta_i x_{n-i}}, \quad n = 0, 1, 2, \dots,$$
(1.1)

where k is a positive integer, the coefficients A, α_i , β_i , i = 0, ..., k and the initial conditions $x_{-k}, x_{-k+1}, ..., x_{-1}, x_0$ are positive real numbers, which ensure that every solution of Eq. (1.1) is positive.

every solution of Eq. (1.1) is positive. Set $\tilde{a} = \sum_{i=0}^{k} \alpha_i$ and $\tilde{b} = \sum_{i=0}^{k} \beta_i$. Then the equilibria points of Eq. (1.1) are the solutions of the equation

$$\tilde{x} = \frac{A + \tilde{a}\tilde{x}}{\tilde{b}\tilde{x}},\tag{1.2}$$

from which one can see that $\tilde{x}_{1,2} = \frac{\tilde{a} \pm \sqrt{\tilde{a}^2 + 4A\tilde{b}}}{2\tilde{b}}$.

This demonstrates that Eq. (1.1) has a unique positive equilibrium point $\tilde{x} = \frac{\tilde{a} + \sqrt{\tilde{a}^2 + 4A\tilde{b}}}{2\tilde{b}}$. Because of every solution of Eq. (1.1) being positive, we only consider the unique positive equilibrium in the sequel.

Now, we present some crucial necessities about the equilibrium point of a higher-order difference equation.

Definition 1. Let I be some interval of real numbers and let

$$f: I^{k+1} \to I$$

be a continuously differentiable function.

Then for every set of initial conditions $x_{-k}, \ldots, x_{-1}, x_0 \in I$, the difference equation

$$x_{n+1} = f(x_n, x_{n-1}, \dots, x_{n-k}), \quad n = 0, 1, 2, \dots$$
 (1.3)

has a unique solution $\{x_n\}_{n=-k}^{\infty}$.

A point \tilde{x} is called an equilibrium point of Eq. (1.3) if

$$\tilde{x} = f(\tilde{x}, \tilde{x}, \dots, \tilde{x});$$

that is, $x_n = \tilde{x}$ for $n \ge 0$ is a solution of Eq. (1.3), or equivalently \tilde{x} is a fixed point of *f*.

Let $F: (0,\infty)^{k+1} \to (0,\infty)$ be a continuous function defined by

$$F(u_0, u_1, \dots, u_k) = \frac{A + \sum_{i=0}^k \alpha_i u_i}{\sum_{i=0}^k \beta_i u_i}.$$
 (1.4)

The linearized equation of Eq. (1.1) associated with \tilde{x} is

A note for "On the rational recursive sequence $x_{n+1} = \frac{A + \sum_{i=0}^{k} z_i x_{n-i}}{\sum_{i=0}^{k} \beta_i x_{n-i}}$,"

$$y_{n+1} = \sum_{j=0}^{k} b_j y_{n-j},$$
(1.5)

where

$$b_j = \frac{\partial F(\tilde{x}, \tilde{x}, \dots, \tilde{x})}{\partial u_j} = \frac{\alpha_j - \beta_j \tilde{x}}{\tilde{b} \tilde{x}}.$$
(1.6)

The characteristic equation of the linearized Eq. (1.5) is given by

$$\lambda^{k+1} = \sum_{j=0}^{n} b_j \lambda^{k-j}.$$
(1.7)

Recently, the authors of Zayed and El-Moneam [15] studied Eq. (1.1) and obtained some results as follows.

Conclusion 1 (*Theorem 5 of Zayed and El-Moneam [15]*). If all roots of the polynomial Eq. (1.7) lie in the open unit disk $|\lambda| < 1$, then

$$\sum_{j=0}^k |b_j| < 1.$$

Conclusion 2 (*Theorem 6 of Zayed and El-Moneam* [15]). Let $\{x_n\}_{n=-k}^{\infty}$ be a positive solution of the difference Eq. (1.1) such that for some $n_0 \ge 0$,

either $x_n \ge \tilde{x}$ for all $n \ge n_0$ or $x_n \le \tilde{x}$ for all $n \ge n_0$.

Then $\{x_n\}$ converges to the equilibrium point \tilde{x} as $n \to \infty$.

Conclusion 3 (*Theorem 7 of Zayed and El-Moneam* [15]). If $\{x_n\}_{n=-k}^{\infty}$ is a positive solution of Eq. (1.1) which is monotonic increasing, then it is bounded and persists.

Conclusion 4 (*Theorem 8 of Zayed and El-Moneam [15]*). The positive equilibrium points $\tilde{x}_{1,2}$ of the difference Eq. (1.1) are globally asymptotically stable. Let's evaluate the above Conclusions 1–4. First, we give a counter example to show that the above Conclusion 1 is wrong.

Example 1. Consider the polynomial Eq. (1.7) with k = 1 with the form

$$\lambda^2 - \lambda + a = 0, \quad 0 < a \leq \frac{1}{4}. \tag{1.9}$$

Obviously, the roots of this equation are given by

$$\lambda_{1,2} = \frac{1 \pm \sqrt{1-4a}}{2}.$$

Since $0 < a \leq \frac{1}{4}$, it is clear that

$$0 < \lambda_1 = \frac{1 + \sqrt{1 - 4a}}{2} < 1$$
 and $0 < \lambda_2 = \frac{1 - \sqrt{1 - 4a}}{2} < 1$.

Namely, all roots of Eq. (1.9) satisfy $|\lambda| < 1$. But

$$\sum_{i=0}^{1} |b_i| = 1 + a > 1.$$

This example shows that Conclusion 1 is wrong.

Conclusion 2 essentially reads that every non-oscillatory solution of Eq. (1.1) approaches \tilde{x} . But a problem naturally rises: Are there non-oscillatory solutions of Eq. (1.1)? This problem is not answered in Zayed and El-Moneam [15]. Similarly, Conclusion 3 actually shows that every monotonic increasing positive solution of Eq. (1.1) is bounded and persists. The problem is: Does Eq. (1.1) have monotonic increasing solution? How about not monotonic increasing solutions of Eq. (1.1)? Bounded or unbounded? Is every positive solution of Eq. (1.1) bounded and persist? All these questions are not solved in Zayed and El-Moneam [15]. In this paper, we will positively answer these questions.

Both Conclusion 4 and its proof are also wrong. In fact, although $\tilde{x}_2 = \frac{\tilde{a} - \sqrt{\tilde{a} + 4A\tilde{b}}}{2\tilde{b}}$ is an equilibrium of Eq. (1.1), it is just a negative equilibrium point of Eq. (1.1). And to consider its global asymptotic stability is meaningless relative to all positive solutions of Eq. (1.1). On the other hand, in the proof of the Theorem 8 of Zayed and El-Moneam [15],

$$\sum_{i=0}^{k} \left| \frac{\beta_i \tilde{x}_j - \alpha_i}{\tilde{b} \tilde{x}_j} \right| = \sum_{i=0}^{k} \frac{\beta_i \tilde{x}_i - \alpha_i}{\tilde{b} \tilde{x}_j}, \quad j = 1, 2$$

is obviously wrong if additional conditions are not added. In addition, the function F of (1.4) ((3) in Zayed and El-Moneam [15]) does not satisfy to be nondecreasing in each of its arguments. Thus, the theorem 3 in Zayed and El-Moneam [15] cannot be used.

Based on the above analysis, the corresponding properties of Eq. (1.1) is worthy further investigating.

The study of rational difference equation such as Eq. (1.1) is quite challenging and rewarding due to the fact that some results of rational difference equations offer prototypes for the development of the basic theory of the global behavior of nonlinear difference equations; moreover, the investigations of rational difference equations are still in its infancy so far. To see this, refer to the monographs [5,6] and the papers [7,2,11,9,10,12,4,13,3,14,8 and the references cited therein].

A note for "On the rational recursive sequence $x_{n+1} = \frac{A + \sum_{i=1}^{n}}{\sum_{i=1}^{k} a_{i}}$

2. Main results

In this section, we will formulate our main results in this note.

Firstly, we will present the existence of non-oscillatory solutions of Eq. (1.1), which has not been answered in Zayed and El-Moneam [15]. One can derive the following result.

Theorem 2.1. Assume that

$$\max_{0 \leqslant i \leqslant k-1} \left\{ \frac{\alpha_i}{\beta_i} \right\} \leqslant \tilde{x} < \frac{\alpha_k}{\beta_k}.$$

Then Eq. (1.1) possesses non-oscillatory solutions asymptotically approaching its equilibrium point \tilde{x} .

The main tool to prove this theorem is to make use of L. Berg' Inclusion Theorem [1]. Now, for the sake of convenience of statement, we first state some preliminaries. Consider a general real nonlinear difference equation of order $l \ge 1$ with the form

$$F(x_n, x_{n+1}, \dots, x_{n+l}) = 0,$$
(2.1)

where $F : \mathbb{R}^{l+1} \mapsto \mathbb{R}, n \in \mathbb{N}_0$. Let φ_n and ψ_n be two sequences satisfying $\psi_n > 0$ and $\psi_n = o(\varphi_n)$ as $n \to \infty$. Then, (maybe under certain additional conditions), for any given $\epsilon > 0$, there exist a solution $\{x_n\}_{n=-l}^{\infty}$ of Eq. (2.1) and an $n_0(\epsilon) \in \mathbb{N}$ such

$$\varphi_n - \epsilon \psi_n \leqslant x_n \leqslant \varphi_n + \epsilon \psi_n, \quad n \ge n_0(\epsilon).$$
(2.2)

Denote

$$X(\epsilon) = \{ x_n : \varphi_n - \epsilon \psi_n \leqslant x_n \leqslant \varphi_n + \epsilon \psi_n, \quad n \ge n_0(\epsilon) \},\$$

which is called an asymptotic stripe. So, if $x_n \in X(\epsilon)$, then it is implied that there exists a real sequence C_n such that $x_n = \varphi_n + C_n \psi_n$ and $|C_n| \leq \epsilon$ for $n \geq n_0(\epsilon)$.

We now state the inclusion theorem [1].

Lemma 2.2. Let $F(\omega_0, \omega_1, ..., \omega_l)$ be continuously differentiable when $\omega_i = y_{n+i}$, for i = 0, 1, ..., l, and $y_n \in X(1)$. Let the partial derivatives of F satisfy

$$F_{\omega_i}(y_n, y_{n+1}, \dots, y_{n+l}) \sim F_{\omega_i}(\varphi_n, \varphi_{n+1}, \dots, \varphi_{n+l})$$

as $n \to \infty$ uniformly in C_j for $|C_j| \leq 1, n \leq j \leq n + l$, as far as $F_{\omega_i} \neq 0$. Assume that there exist a sequence $f_n > 0$ and constants A_0, A_1, \ldots, A_l such that both

$$F(\varphi_n,\ldots,\varphi_{n+l})=o(f_n)$$

and

$$\psi_{n+i}F_{w_i}(\varphi_n,\ldots,\varphi_{n+l})\sim A_if_n$$

for i = 0, 1, ..., l as $n \to \infty$, and suppose there exists an integer s, with $0 \leq s \leq l$, such that

$$|A_0| + \dots + |A_{s-1}| + |A_{s+1}| + \dots + |A_l| < |A_s|.$$

Then, for sufficiently large n, there exists a solution $\{x_n\}_{n=-l}^{\infty}$ of Eq. (2.1) satisfying Eq. (2.2).

Proof of Theorem 2.1. Put $y_n = x_n - \tilde{x}$. Then Eq. (1.1) is transformed into

$$(y_{n+1} + \tilde{x})\left(\sum_{i=0}^{k} \beta_i y_{n-i} + \tilde{b}\tilde{x}\right) - \left(A + \tilde{a}\tilde{x} + \sum_{i=0}^{k} \alpha_i y_{n-i}\right) = 0, \quad n = 0, 1, \dots$$

So, for n = -k, -k + 1, ...,

$$y_{n+k+1}\left(\sum_{i=0}^{k}\beta_{i}y_{n+k-i} + \tilde{b}\tilde{x}\right) + \sum_{i=0}^{k}(\beta_{i}\tilde{x} - \alpha_{i})y_{n+k-i} = 0.$$
(2.3)

An approximate equation of Eq. (2.3) is the equation

$$\tilde{b}\tilde{x}z_{n+k+1} + \sum_{i=0}^{k} (\beta_i \tilde{x} - \alpha_i) z_{n+k-i} = 0, \qquad n = -k, -k+1, \dots$$
(2.4)

provided that $z_n \to 0$ as $n \to \infty$. The general solution to (2.4) is $z_n = \sum_{i=0}^k c_i t_i^n$, where c_i , i = 0, 1, ..., k, are complex numbers and t_i , i = 0, 1, ..., k, are the (k + 1) zeros of the polynomial

$$P(t) = \tilde{b}\tilde{x}t^{k+1} + \sum_{i=0}^{k} (\beta_i\tilde{x} - \alpha_i)t^{k-i}.$$

Obviously,

$$P(1) = \tilde{b}\tilde{x} + \sum_{i=0}^{k} (\beta_i \tilde{x} - \alpha_i) = \tilde{b}\tilde{x} + \tilde{b}\tilde{x} - \tilde{a} = 2\tilde{b}\tilde{x} - \tilde{a} = \sqrt{\tilde{a}^2 + 4A\tilde{b}} > 0$$

and

$$P(0) = \beta_k \tilde{x} - \alpha_k < 0.$$

So P(0)P(1) < 0. Hence, P(t) = 0 has a solution $t_0 \in (0,1)$. Now, choose the solution $z_n = t_0^n$ for this $t_0 \in (0,1)$. For some $\lambda \in (1,2)$, define the sequences $\{\varphi_n\}$ and $\{\psi_n\}$ respectively as follows:

$$\varphi_n = t_0^n \quad \text{and} \quad \psi_n = t_0^{\lambda n}. \tag{2.5}$$

Obviously, $\psi_n > 0$ and $\psi_n = o(\varphi_n)$ as $n \to \infty$.

Now, define again the function

A note for "On the rational recursive sequence $x_{n+1} = \frac{A + \sum_{i=0}^{k} \alpha_i x_{n-i}}{\sum_{i=0}^{k} \beta_i x_{n-i}}$ "

$$F(\omega_0,\omega_1,\ldots,\omega_k,\omega_{k+1}) = \omega_{k+1}\left(\sum_{i=0}^k \beta_i \omega_{k-i} + \tilde{b}\tilde{x}\right) + \sum_{i=0}^k (\beta_i \tilde{x} - \alpha_i)\omega_{k-i}.$$
 (2.6)

21

Then the partial derivatives of F w.r.t. $\omega_0, \omega_1, \ldots, \omega_{k+1}$ respectively are

$$F_{\omega_{i}} = (\omega_{k+1} + \tilde{x})\beta_{k-i} - \alpha_{k-i}, \quad i = 0, 1, \dots, k,$$

$$F_{\omega_{k+1}} = \sum_{i=0}^{k} \beta_{i}\omega_{k-i} + \tilde{b}\tilde{x}.$$
(2.7)

When $y_n \in X(1), y_n \sim \varphi_n$. So,

$$F_{\omega_i}(y_n, y_{n+1}, \dots, y_{n+k+1}) \sim F_{\omega_i}(\varphi_n, \varphi_{n+1}, \dots, \varphi_{n+k+1}), \quad i = 0, 1, \dots, k+1,$$

as $n \to \infty$ uniformly in C_j for $|C_j| \leq 1, n \leq j \leq n + k + 1$.

Moreover, from the definition (2.6) of the function F and Eq. (2.5), after some calculation, we find

$$F(\varphi_n, \varphi_{n+1}, \dots, \varphi_{n+k+1}) = \sum_{i=0}^k \beta_i t_0^{2n+2k+1-i} + \sum_{i=0}^k (\beta_i \tilde{x} - \alpha_i) t_0^{n+k-i} + \tilde{b} \tilde{x} t_0^{n+k+1}$$
$$= \sum_{i=0}^k \beta_i t_0^{2n+2k+1-i}.$$

Now, choose $f_n = t_0^{\lambda n}$. Then one can easily see that

$$F(\varphi_n,\ldots,\varphi_{n+k+1})=o(f_n)$$
 as $n\to\infty$.

Again, from (2.5) and (2.7), one has that

$$\begin{split} \psi_{n+i} F_{\omega_i}(\varphi_n, \varphi_{n+1}, \dots, \varphi_{n+k+1}) &= t_0^{\lambda(n+i)} (\beta_{k-i} t_0^{n+k+1} + \beta_{k-i} \tilde{x} - \alpha_{k-i}), \\ i &= 0, 1, \dots, k, \\ \psi_{n+k+1} F_{\omega_{k+1}}(\varphi_n, \varphi_{n+1}, \dots, \varphi_{n+k+1}) &= t_0^{\lambda(n+k+1)} \left(\tilde{b} \tilde{x} + \sum_{i=0}^k \beta_i t_0^{n+k-i} \right). \end{split}$$

Hence $\psi_{n+i}F_{\omega_i} \sim A_i f_n$, $i = 0, 1, \dots, k+1$, where

$$A_{i} = t_{0}^{\lambda i}(\beta_{k-i}\tilde{x} - \alpha_{k-i}), \quad i = 0, 1, \dots, k, A_{k+1} = b\tilde{x}t_{0}^{\lambda(k+1)}$$

Therefore, one has

$$\begin{aligned} |A_1| + \dots + |A_{k+1}| &= t_0^{\lambda} |\beta_{k-1} \tilde{x} - \alpha_{k-1}| + t_0^{2\lambda} |\beta_{k-2} \tilde{x} - \alpha_{k-2}| + \dots + t_0^{\lambda\lambda} |\beta_0 \tilde{x} - \alpha_0| \\ &+ \tilde{b} \tilde{x} t_0^{(k+1)\lambda} \\ &< t_0 (\beta_{k-1} \tilde{x} - \alpha_{k-1}) + t_0^2 (\beta_{k-2} \tilde{x} - \alpha_{k-2}) + \dots + t_0^{\lambda} (\beta_0 \tilde{x} - \alpha_0) \\ &+ \tilde{b} \tilde{x} t_0^{k+1} \\ &= -(\beta_k \tilde{x} - \alpha_k) = |A_0|. \end{aligned}$$

Up to here, all conditions of Lemma 2 with l = k + 1 and s = 0 are satisfied. Accordingly, we see that, for arbitrary $\epsilon \in (0,1)$ and for sufficiently large *n*, say $n \ge N_0 \in \mathbb{N}$, Eq. (2.3) has a solution $\{y_n\}_{n=-k}^{\infty}$ in the stripe $\varphi_n - \epsilon \psi_n \le \varphi_n \le \varphi_n + \epsilon \psi_n$, $n \ge N_0$, where φ_n and ψ_n are as defined in (2.5). Because $\varphi_n - \epsilon \psi_n > \varphi_n - \psi_n = t_0^n - t_0^{\lambda n} > 0$, $y_n > 0$ for $n \ge N_0$. Thus, Eq. (1.1) has a solution $\{x_n\}_{n=-k}^{\infty}$ satisfying $x_n = y_n + \tilde{x} > \tilde{x}$ for $n \ge N_0$. Since Eq. (1.1) is an autonomous equation, $\{x_{n+N_0+k}\}_{n=-k}^{\infty}$ still is its solution, which evidently satisfies $x_{n+N_0+k} > \tilde{x}$ for $n \ge -k$. Therefore, the proof is complete. \Box

Remark 2.3. If we take $\varphi_n = -t_0^n$ in (2.5), then $\varphi_n + \epsilon \psi_n < -t_0^n + t_0^{\lambda n} < 0$. At this time, Eq. (1.1) possesses solutions $\{x_n\}_{n=-k}^{\infty}$ which remain below its equilibrium for all $n \ge -k$, i.e., Eq. (1.1) has solutions with a single negative semi-cycle.

Remark 2.4. The existence and asymptotic behavior of non-oscillatory solution of Eq. (1.1) has not been found to be considered in the known literatures.

Secondly, we answer the existing problem for Conclusion 3 (i.e., Theorem 7 of Zayed and El-Moneam [15]). The following results are derived.

Theorem 2.5. Every positive solution of Eq. (1.1) is bounded and persists.

Proof. From Eq. (1.1) one see that, for $n \ge 0$,

$$x_{n+1} = \frac{A + \sum_{i=0}^{k} \alpha_i x_{n-i}}{\sum_{i=0}^{k} \beta_i x_{n-i}} > \frac{\min_{0 \le i \le k} \alpha_i \sum_{i=0}^{k} x_{n-i}}{\max_{0 \le i \le k} \beta_i \sum_{i=0}^{k} x_{n-i}} = \frac{\min_{0 \le i \le k} \alpha_i}{\max_{0 \le i \le k} \beta_i} =: P.$$

Then, for $n \ge k + 1$,

$$\begin{aligned} x_{n+1} &= \frac{A + \sum_{i=0}^{k} \alpha_i x_{n-i}}{\sum_{i=0}^{k} \beta_i x_{n-i}} < \frac{A}{\sum_{i=0}^{k} \beta_i x_{n-i}} + \frac{\max_{0 \le i \le k} \alpha_i \sum_{i=0}^{k} x_{n-i}}{\min_{0 \le i \le k} \beta_i \sum_{i=0}^{k} x_{n-i}} \\ &< \frac{A}{\tilde{b}P} + \frac{\max_{0 \le i \le k} \alpha_i}{\min_{0 \le i \le k} \beta_i}, \end{aligned}$$

from which one knows that every positive solution of Eq. (1.1) is bounded and persists. The proof is completed. \Box

Remark 2.6. Theorem 2.5 demonstrates that, all positive solutions of Eq. (1.1), regardless of monotonoc inreasing ones or not monotonoc inreasing ones, are bounded and persist. So, with respect to the boundedness and persistence, it is not important whether the solutions of Eq. (1.1) are monotonoc inreasing or not.

Finally, we state the global asymptotical stability for positive equilibrium point \tilde{x} of Eq. (1.1). The result is as follows.

A note for "On the rational recursive sequence $x_{n+1} = \frac{A + \sum_{i=0}^{k} \alpha_i x_{n-i}}{\sum_{i=0}^{k} \beta_i x_{n-i}}$,

Theorem 2.7. Assume that $\beta_i = \alpha_i$, i = 0, 1, ..., k. Then the positive equilibrium point \tilde{x} of Eq. (1.1) are globally asymptotically stable.

In order to prove this theorem, one needs the following lemma.

Let us consider the higher order difference equation

$$x_{n+1} = f(x_n, x_{n-1}, \dots, x_{n-m}), \quad n = 0, 1, \dots,$$
(2.8)

where *m* is a nonnegative integer and $f : \mathbb{R}^{m+1} \to \mathbb{R}$ is a given function. Assume the following:

There exists r_0 , s_0 with $-\infty \leq r_0 \leq s_0 \leq \infty$ such that:

- (H1) $f(u_0, u_1, \dots, u_m)$ is nonincreasing in each $u_0, u_1, \dots, u_m \in I_0$ where $I_0 = (r_0, s_0]$ if $s_0 < \infty$ and $I_0 = (r_0, \infty)$ otherwise.
- (H2) g(u) = f(u, ..., u) is continuous and strictly decreasing for $u \in I_0$.
- (H3) There is $r \in [r_0, s_0)$ such that $r < g(r) \leq s_0$. If $r_0 = -\infty$ or $\lim_{t \to r_0^+} g(t) = \infty$, then we assume that $r \in (r_0, s_0)$.
- (H4) and (H3) holding implies that Eq. (2.8) has a unique fixed point x^* in the open interval (r,g(r)).
- (H5) There is $s \in [r, x^*)$ such that $g^2(u) > u$ for all $u \in (s, x^*)$.

Lemma 2.8 [6, Theorem 1, P_{111}]. If (H1)–(H3) and (H5) hold then x^* is stable and attracts all solutions of Eq. (2.7) with initial values in (s,g(s)).

Proof. From the known assumption $\beta_i = \alpha_i$, i = 0, 1, ..., k, one can see that $\tilde{a} = \tilde{b}$ and $\tilde{x} = \frac{\tilde{a} + \sqrt{\tilde{a}^2 + 4A\tilde{b}}}{2\tilde{b}} > 1$.

The linearized equation of Eq. (1.1) associated with \tilde{x} is Eq. (1.5). Because of

$$\sum_{i=0}^{k} \left| \frac{\beta_i \tilde{x} - \alpha_i}{\tilde{b} \tilde{x}} \right| = \sum_{i=0}^{k} \beta_i \left| \frac{\tilde{x} - 1}{\tilde{b} \tilde{x}} \right| = \frac{\tilde{x} - 1}{\tilde{x}} < 1,$$

it follows from [2, Remark 1.3.1, P_{12}] that \tilde{x} is locally asymptotically stable. It next suffices to prove that \tilde{x} is globally attractive, which will completed by utilizing Lemma 2.8.

Notice that Eq. (1.1) is now reduced into

$$x_{n+1} = \frac{A}{\sum_{i=0}^{k} \beta_i x_{n-i}} + 1, \quad n = 0, 1, 2....$$

So, one can choose $I_0 = (0,\infty)$ in (H1) and r = 1 in (H3). Again, $g(u) = f(u, \ldots, u) = \frac{4}{bu} + 1$ is continuous and strictly decreasing for $u \in I_0$; moreover, $g^2(u) = \frac{Au}{A+bu} + 1 > u$ for all $u \in (0,x^*)$, holding evidently. Thus, all conditions of Lemma 2.8 are satisfied. The proof is over. \Box

References

- L. Berg, Inclusion theorems for non-linear difference equations with applications, J Diff Equat Appl 10 (4) (2004) 399–408.
- [2] D.M. Chan, E.R. Chang, M. Dehghan, C.M. Kent, R. Mazrooei-Sebdan, H. Sedaghat, Asymptotic stability for difference equations with decreasing arguments, J Diff Equat Appl 12 (2) (2006) 109–123.
- [3] H.M. El Owaidy, A.M. Ahmed, M.S. Mousa, On the recursive sequences $x_{n+1} = \frac{-\alpha x_{n-1}}{\beta \pm x_n}$, Appl Math Comput 145 (2003) 747–753.
- [4] Alaa E. Hamza, On the recursive sequence $x_{n+1} = \alpha + \frac{x_{n-1}}{x_n}$, J Math Anal Appl 322 (2006) 668–674.
- [5] V.L. Kocic, G. Ladas, Global Behavior of Nonlinear Difference Equations of Higher Order with Applications, Kluwer Academic Publishers., Dordrecht, 1993.
- [6] M.R.S. Kulenovic, G. Ladas, Dynamics of Second Order Rational Difference Equations with, Open Problems and Conjectures, Chapman and Hall, CRC, 2002.
- [7] G. Ladas, Open Problems and Conjectures, J Differ Equat Appl 3 (1995) 317-321.
- [8] G. Ladas, Open Problems and Conjectures, J Differ Equat Appl 4 (1998) 497-499.
- [9] X. Li, Global behavior for a fourth-order nonlinear recursive sequence, J Math Anal Appl 312 (2) (2005) 555-563.
- [10] X. Li, R.P. Agarwal, The rule of trajectory structure and global asymptotic stability for a fourth-order rational difference equation, J Korean Math Soc 44 (4) (2007) 787–797.
- [11] X. Li, D. Zhu, Two rational recursive sequences, Comput Math Appl 47 (10/11) (2004) 1487–1494.
- [12] G. Liu, X. Li, Global attractivity of a nonlinear difference equation, Ind Math J 50 (3) (2008) 617-627.
- [13] X. Yan, W. Li, Global attractivity in the recursive sequence $x_{n+1} = \frac{x \beta x_n}{\gamma + x_{n-1}}$, Appl Math Comput 138 (2003) 415–423.
- [14] X. Yang, H. Lai, David J. Evans, Graham M. Megson, Global asymptotic stability in a rational recursive sequence, Comput Math Appl 158 (2004) 703–716.
- [15] E.M.E. Zayed, M.A. El-Moneam, On the rational recursive sequence $x_{n+1} = \frac{A + \sum_{i=0}^{k} \alpha_i x_{n-i}}{\sum_{i=0}^{k} \beta_i x_{n-i}}$, Math Bohemica 3 (133) (2008) 225–239.